TR0 e o0 0—0 fyra brék, decimaler, ordningsfoljd med parenteser

namn: Datum: Poéng:

1 3
2-3(5,9-5)= 43%6+2-4(;-2,8) =

15(%+%)+3><2—§= 8(%—4,3)+2x3+é=
§x15+3+5(%—%)= %+3(4,5—5,9)=
3,1><15+5—5(1—§)= 20(5,7+1)+5><2—4=
2 2 5
%X8+4+3(é+2,6)= 2+5(4,1+5,2)=
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T T s o0 —0

fyra brak, decimaler, ordningsfoljd med parenteser

namn:

1 71 1
2-3(5,9- E) - (_?) - (_145)
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1 1 87 7
~x8+4+3(=+2,6)= — = 8—
5 (5729715 787

Datum: Poéng:
3 181 1
4 +2—-4(=z—2,8)= — = 18—
A T

1 1363

1 13

3 27 7
2 +3(4,5-5,9) = ()= (-2-

1 216 1
205,74+ =) +5x2—-4=— =43

97 1
24 5(4,1+5,2)= = = 48
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